Potencias de 10 (J)

9102

90 =102

27102

131072

54 +1072

291072

641072

76+~ 1072

37+1072

57102

Calcule los siguientes cocientes.

66+ 1072

54102

23 +1072

97 =102

58+ 1072

491072

28 + 1072

121072

72 =102

631072
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Potencias de 10 (J) Respuestas

9102
900
90+ 1072
9.000
27 +1072
2.700
131072
1.300
541072
5.400
201072
2.900
64+ 1072
6.400
761072
7.600
371072
3.700
571072
5.700

Calcule los siguientes cocientes.

66 <1072
6.600
541072
5.400
231072
2.300
97 + 1072
9.700
581072
5.800
49+ 1072
4.900
281072
2.800
12+1072
1.200
721072
7.200
631072
6.300
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